3000 AANE 3300 FEALREZ/NE 3320 AFLASAR 0 3321 sHH AL 110 1719 101 e1zim]
e =5
o 2 o g 2 7] =
Alg A4 g =
?ﬁiji&a 5,505,561 [[= 1,038,000 &= 325,000 A 4,142,561 ]
17((%)(%01]& 338,332
}ﬁ%a} 228,954
193)1@2” 228,954
228,954 |10 A AIAF Q1<)
OstHAAI A A ] Q17 (207) (=228,954)
— 2 (=14,583)
S 69,1099 * 19 = 170 = 11,749
CrEFETY 69,1099 * 17 * 345 = 2,350
AT 69,109¢ = 19 = 79 = 484
— 2] (=209,271)
o) 52,2009 * 199 = 170 = 168,606
CrEFETY 52,2009 * 199 x 34F = 33,722
Ao TS 52,2009 = 199 = 7Y = 6,943
e e =) K [ PN RE) 1,500 * 207 = 170 = 5,100
175(% A7 109,378
???(‘_%_ . 109,378
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3000 AANE 3300 FEALREZ/NE 3320 AFLASAR 0 3321 sHH AL 120 A4A7n 201 LRE9H)|
ﬂ il o AF o s = 7] =
A8} Al Al & =
109,378 |01 Lu+-e-<3n]
OYdukgn] F A2k (=82,378)
— dyk=8-8] (=17,100)
FAFTAF A 2L Ao A= 100,000 * 207 = 2,000
HA R4 D S/ALt 5ZF, A8 TR
250,000 * 387 = 9,500
=ANES U4 7090 * 80,000v) = 5,600
—Feaw 2 AA (=7,200)
ZANHR AL E 150,000 * 2702 = 129 = 3,600
LAY AFE AFEE 150,0009 = 17hA « 129 = 1,800
AT BEAAE &y
150,000 * 17024 = 129 = 1,800
— A= (=13,209)
- 3} 2) 7] 1,46590 = 1t = 200 = 10¥ = 8¢ = 2,344
X Ex 1,46590 = 20t * 34 = 15¢ = 8¢ = 10,548
- HEE 1,4659 = 3th * 30 = 3Y = 8¢ = 317

— A1 F§- A 1] (=44,869)




3000 AANE 3300 FEALREZ/NE 3320 AFLASAR 0 3321 sHH AL 120 A4A7n 201 LRE9H)|
35
o 2 o A = 7] ES
A% AR =
EERICHED 200,0009 * 20t} * 8¢ = 32,000
o H7)ge 5% 45,000¢) * 200 * 79 = 6,300
- okA3} 9] 5% 100,0009) * 209 * 39 = 6,000
- 54 7) 569,0009 * 1t * 13] = 569
OAlqt 9 F7ka8% (=27,000)
— = A AN =E A |
1,000,0009 = 2702 = 129 = 24,000
=AY A AXE 1,500,00090 * 2] = 3,000
i%%;qm 5,167,229 |[= 1,038,000 & 325,000 Al 3,804,229 ]
%Hi%wﬁ 3,693,229 |[= 1,038,000 &= 325,000 Al 2,330,229 ]
i?%ﬂ]%l?—ﬂ%ﬂl 3,693,229 |[= 1,038,000 &= 325,000 Al 2,330,229 ]
3,663,229 |01 A] 22w
Ozt dA sy (3t=2x, s, w3 L=7.8km)
1,700,000,0009 = 1,700,000
[ 1,020,000 Al 680,000 ]
Osk f2 B2 (3371 %) 450,000,0009) = 450,000
[= 225,000 A 225,000 ]
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3000 7 A 7N

3300 T EAIREIET

3320 A52 A

3321 sl e 210 HZEZAY

401 AW S5t ]

e =5 - -
o 4k of At = 7] *
Alg A4 g =
OEH FuAbY 100,000,0009) = 100,000
[ 100,000 ]
O FaH3A (AH] i) 1,413,229,0009 = 1,413,229
30,000 |03 A]/dH-o)jH]
OFF =AY A2 Ein) 30,000,0009 = 30,000
[ 18,000 A] 12,000 |
%ﬁgﬂA}qj 1,474,000
A H 470,000
1,400,000 |01 A]2dH]
OF .54 st 718 A BuAFd (33704~ L=194. 2km)
500,000,000 = 500,000

OAYF 715 Au|H 200,000,000 = 200,000
OAAd st (FAkE 17]4) 100,000,000 * 17H4 = 100,000
OxAsk v A4 (L=7.1km) (=600,000)

- - &3k gy (L=4. Okm) 600,000,000 = 600,000

70,000 |03 A]/dH-ojH]

OA2w sk AgRIALY] A St H| 30,000,0009 = 30,000




3000 AAAL 3300 FEADBEAW 3300 A=DASCA 3321 sAdE 220 AAA 401 A]AdH]BF-dhH]
7} =
o 2 o i - ’ ;
e A A il
i?%u]m?—ﬂ%a] OAtr st 2157w nldxks 500,000¢1 * 80th = 0,00
405
mo 4,000
4,000 |01 AR EFF S
OAENE A7) 73] 2000008 * 200 7 —
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